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Solve for x. 300 Astad) Jal
2 37 _Sox=2
X+3 4=x x¥-x-12
A.
>
B.
-5
adall e V) aea

Aggall el A Ja 2 Y

R L S———
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Find a, for the sequence in which S LMD b a; 2y

a, = 1104 and a,, = 4a,_, + 16. a, =4a, +16 ya, = 1104
a ay=12 O
s a; =64 O
O




Write a recursive formula for the e Sl A0 AN S dise S
SERIES sequence that represents the -JESN vi S palt

number of squares in the figure.

- ;g:g{qi

a ;y=la,=4a, 1+1.,n=2 O
h @y =la,=a, +4.n=2 O

ay=1a,=2a, ,-5n=>2 O
s ag=1a,=6a, -1.n=>2 @)
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What is the tenth term of the geometric sequence 4, —12, 36,...7

A. —120
B. 236, 196
C. —78,732
D. —59,045
E. 78,732




-

fcb Martrix

et 20l el S afl uisfe .
If A= [g :"ﬂ and B = [‘8 '“1], then — 24 + 3B =?

IRIBATES SCHOOLE ESTARLIGHMINT

. . B

3 D
0 A. ::143 1?,8:
0B 3 s
e f
o, |15 3
0 E. [‘_3?” ;‘]




Matrix B
m:.:fr‘s SCHOOL :::;::I'EHHIHI Wy il
Which of the following augmented matrices pda e 0D Al il S dead) e g
presents the system of equations below? ol Y dlae
2X=3y+2=-5
4x - y~2z2=~17
-x+2z=-1
[ 2: =3 i =K | " [ 2 & =1
4 -1 -2 -7 -3-10
-1 0 2 -1 1 -2 2
| =5 =7 -1
[ 3 & =}=]] r' [ 3 =% F |
-3 -10 -7 4 -1 -2
| 2 =2 2 -5 [ -1 0 2 |
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Find a solution to the following A0 S dadll Jall i gapa 3a
system of equations.

xz+yz=?

x¢=-y=5
A

{l‘. F} = {ﬁt o 2}

4 115]

”*”=('5' 25

| (x, V) =(-V6,1)

|" No solution Ja 3 ¥
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What is the solution set of the the orada .
solowlog equation? A Askaall Jall i sape AL

4:21-4:’1-5

A,
{_ 11 _3]'
B
(1, -3
(-1, 3)
- Efﬂ'l"l'.! &
(=3)=+4(=3)
4 (1,3)
1
64 vor @ &

5%



ALGEBRA

Select all relabions that are a function s Jid ) AR ppap ia

?_uj.'l.ql Mokl ld ol g )8 L.n.l.u.uﬁ.l
FRORATES SCHOOLE ESTARLISHMINT A

em— s

(12, 5), (2,5) 5,5), (0,5))

B.
Domagin Range i
|
g~
""\. __._'___-? h
‘_:;-r'-,___.-
-3 - k- - W
"‘1.\\‘
- -~ il
T,
- - %
- = f
= =
C. _
. [(3,2), (3,3), (3, —4), (3, -1}
D,
Domain Ramge
: o ._'__:-"Fl --.I
£ ‘H'(f a 4
o~
- "'-_:. _.-"f-_ - ek - §
< <l
g ~ e 4
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Vi -3y=9
. 3+ 3/S
2
o] i
axﬂigx+c=0
X1=
-3+ 35
3+3{5 - Vs
2 Fa
vir @ i Twa
ﬂKE+bH+G=U 3+3WE
Xa= ~

-

3:3;»/'3‘
3

L




sisrot el i ap ke Select all value(s) for which m in the W il 0 N gl o ) IS i)
IMIRATES SCHOOLE ESTARLISHMINT fdm W is defined? f'dﬂ m .q#
For this item type you can select 1, 2, 3, JS 3 1.2.3 Ak (S ¢ Jpadlndgd
or all choices. o all
15m°n
3-m
A
-3
B.
0
{
Csr [
1
D.
3
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mmwmmmm RIS T TS [ I -
-300

4 & &
10iV3

B.
3iv 10




Select all true statements. Anganall Sl o) JS i

HJMJMMJHPLM

TRIRATES SCHOOLE ESTARLISHMINT

Since 13.1 is a terminating decimal, B8 g e g e 22 131 O
it is rational. i
c 14 , ; . , . . .14
Since —— is a ratio of two integers, '..PF—'J-"-‘*-!-‘J‘TJ‘-#
it is rational. s
Since 7 is not a perfect square, V7 b e RS lay e ol 7 o Lt
V7 is rational. o A5 jln

Since 15 is a perfect square, +/ 16
is irrational.

JI6 b s by 10 16 ol e

Emﬁ.ﬁuamm.
it is rational.

2 ggh g9 g 2 584 o L
—

em— s
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Safa is nding her bicycle at a speed of 7.5 doldl 3287548 pu lghal 0 Uea o sk
kilometers per hour

How many kilometers does she nde in 3 '-"'-"""—34*4.‘.‘4““45“#?5
hours?

L) km
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What s the domain for the function folial Ul Jae pla
below?

[4, oc) (0, oc)

(4, %) | (= 00, 4)
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Find the value of

Does not exist

DAl g

em— s
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Let F"be a continuous function for all real x X Astadall Jloe Y1 asead dlal. Al BTS2
Simpify the expression shown below sl s gl pach Jal
1 a+h
lim = F'(x)dx
nuuﬂ a
F'(a) |
F(0)

F(a) |

F(0) |
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What is the slope of the line tangent to the 5 g ol das gl Aliaddl ol ol e b
graph of the equation below at x = 1? * v=] s
F:{G-xz i_\._rzq.i]

2 X
-2
-3
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log,x =3log,p - {Eiﬂgbr + %m gnr]
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FRORATES SCHOOLE ESTARLISHMINT S —
Three graphs labeled |, 11, and Il are shown aad s s | Shsiaia 4800 mua g olial JS20
below. One is the graph of f, one is the ' Sdaasaly ' 0is aaal g f Jid Slsasd)

graph of f*and one Is the graph of f *
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Which of the following correctly identifies Sliadall ‘e IS daiaaa § ) geas 23ad L Laa 3
each of the three graphs? Lk
f=1 f=1
f'-_'-”,l' f'-_-

ff=1u "=l
f=1 f=1 |
=1 f=
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Seven times the difference of 3x and y 1S 8y 33x On G Jsla e A
21x =y |
Ix -7y |

3x—-y ‘

7Gx -y) "\
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What is the trapezoidal approximation for the - il 4l A .u;i_‘,.ls.ﬂl@gﬂf..ﬁ.iln..
integral shown below using 4 subintervals? il e ol 4 e
Fl
[ vxax
0
10.293
12203 |

5333

2.146
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The function f(x) i1s shown below 6l das g fi(x) A
f(x) = 5x* + 6x2
If F(x) is the antidenvative of f(x), which of fo) Vall (Adoalt) Abdsad Al 2 Fx) <€ 13
the following could be F(x)? PF(x) oS5 o oS b bae gl o
F(x) =5 + 6 + 1
Fix)=x®+2x°+ 3 )

F(x) = 20x° + 12x )

F(x) = 5x° + 6x




The figure below shows the graph of el Sl e B s sl X2
D A y =5x - x* and the graph of the line y = 2x Aalos boy = 2 pfad 9 y = X = X7 -
What is the area of the shaded region? Al bl
¥
1
'l -X
9 45
2 2
27 25
2 6




Given the equation bedow oidal el ;.f.'...:i 13
Q=2X+2R o
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identify the equivalent equation in terms XNl wJawmCah dli. ) s
of X

-
x




#

mﬂj::l‘i i-:i-m-m::‘:;::-summ What is k_ if the function fis given by
fix) = x* has an average value of 9 on the
closed interval [0, K7

-

Ladly fix) =0 VD =S 1Y Kl L
10, k] A sl 5O 5 ed A sle

‘, 3572
;

36/4
F

311'2
L

R L S———



The graph of a function fis shown balow il ey f DD s
st ol el Sl ol & s
FREIRATES SCHOOLS ESTARLVSHMINT . : — . —

11
. — b - -— - I
-1, O I 2 3 4
i lim f{x) exists and fis not continuous dsls 2 5 Siyaya lim flx) =280
§ =5 =D
at b, what does b equal? biudilaw.Dh =
0 2
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The top right-hand corner of each rectangle o g Julaines S el Aga e ladl gl 1 A T

shown under the curve lies onthe graphofy i 505 J 2 Jaad } cat
and the base of each rectangle has sesy = .ﬂﬁj_ -

length Ax.

y="flx)

The sum of the areas of the rectangles is an 5 s JS B i) s © et
approximation for which of the following Pl i puadll e Ji
expressions?
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i

/ Hb)dx

f(b) + f(0)

_’; lji’(::w:}t:i:ar:

f(b) - f(0)
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dx =7

[l

2m |
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it fix) =’ + ¢

then

em— s

flx) =l + 1 cug

. |

-

fx) =2

4ot + 1

4{:‘.3 + l]EE[l! * 1}‘

.E.{Il + .”‘

1?12{13 + ”3‘,“3* 1t
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g0l mACll cAfof dde  Eindg A 32 ) s

TRIRATES SCHOOLE ESTARLISHMINT + - . R —

lim log(x) =7

x-D*

+ o0 |




208 mulell Lol & s Three graphs labeled A, B, C are shown aant aiddamge C 5B oA clinie iD0
VMIRATES SCHOOLS ESTABLISHMENT beiow. One is the graph of . one is the h" A i, ' PeleddDyh Jale el

graph of 2" and one is the graph of h™

A B C
Which of the following comectly identifies Clond e Elaoa e s L e
gach of the three graphs? oo
‘ h b’ h* ‘ h h' h* :
C B A B L C |
‘ h h* h* h h' h*
A C B ‘ B c A |




The graph below shows the relationship B 0 o A Judl ) SO ma B
HJMJMMJHPLM - o=
fuimaTes scuools ssTanusmint  Detween weight of bread flour and costs, in oyl adedy all el

dirhams, for bread

(3.9 At ddoc
Total Cost (AED)

Which statement IS not true?
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which statement IS not true?

The point (0, 0) shows the cost is 0
fils for O kilograms of flour.
L.

S 55 s inen o (0,0) kD a3 l
O TSN -

F

' The point (0.5, 2) shows that 0.5
kilograms of flour costs 2 dirhams.

"'\.
",

el 2 l€05 (05, 2) il pa g

e,

\

a2 2 4ld 2ad

o

The point (1, 4) shows the cost is
AED 4 for 1 kilogram of flour.

1 o3 AED 4 o (1,4) Lhsith peaia s |
:!.iﬁl;ﬁpi.ﬁ#}

r

The point (0.25, 1) shows the cost is
25 fils for 1 kilogram of fiour

L 1
%

oak ga e 25 o1 (0.25, 1) dhaid) puda g |

35D e gl e 251

Clasann Gl Ll laa s e ! s
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% What is the definite integral that represents ol Aia) daless Sy ) 2l SaS L s
TAIRATES SCHOOLS ESTARLISHMINT the area of the region bounded by the graphs Bl da pd Oy =

of the functions shown below?
y,=5-2°
¥, =-M-5

5
f [[5—1!2}*[-3:—5}1{11 J
-

!4! (5 — x?)dx l
75

f 5
f (=x*+3x +10)dx W
-2

Il-.. ﬂ -.I
‘ f (=x* +3x = 10)dx ‘




&

el 2 Ll - T =2
m:::r‘ufhmt::':;::-mmm I flx) = T then . ﬁ-'-} - T S -l
s flx+h) - fix) "
n-0 2h
' i
= B
2 |
-1 ‘
\ 2

[ 4N ]
i
L=

‘H
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em— s

On a given planet, the weight of an aa o jhe adiis S 55, e LSS e
object varies directly with the mass of PO
the object.

Suppose that an object whose mass Is " . S<H 3K ) s
4kg weighs 20N. 20N 43y 4kg O e
What is the weight of an object whose 10kg <35 5,88 Laie 89S0 55y 20 )

mass is 10 Kg?




?ﬂjmwdpﬂw

f(x) is shown below. sl das o fix)
flx)=log,x

If g(x) Is the image of f{x) after a transiation ad e saz f(X) 5 00 & g(X) S3S 1)

five units to the left, which equation ¢ g(x) Jid o Lae Al gl o jladl il

represents g(x)? .

gix)=iog. (x - 5) :] g(x) = log x + 5 |

g =log,x+5) | 90x) = logx - § |




s il Mol Al 0 8 A il
TRIRATES SCHOOLE ESTARLIGHMINT Berr-

The function g 1S graphea below {g) Db L b By

Find the foflowing limits JUT TP B IR
lim  glx)=|
i = = 1%
lim gix)=

K= ==




it i mule il cA L 08 [
FREIRATES SCHOOLE ESTARLISHMINT R e —

What is the equation of the tangent line 1o the FO =2 + 2x niall pdadd Aldae Al

corveof fx)=x% + 2xat x=37 . |
! _t=3 il

y - 15 = 8(x - 3)

v+ 15 = =8(x+ 3)

v + 15 = 8(x + 3)

y - 15 = -8(x - 3)
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. . B

Solve for m in the equation _4t3+ ™ = 4m.
0 A. -4t
B. 41
4t
C. ——
11
p. !

4t
E. 11 + 4t
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What is2z — 1 if -4+ 8 = —6 + 327

A. 2
0 B. -3
C.3
U D.4
L E.5
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The sum of 322 — 222 + 3z — 8 and —hHz? — 422 —x — 9 is

A8z —6z* + 2z — 17

. =223 4+ 62% + 2z — 17
. —22% — 62% + 22 — 1
. —22° — 62% + 22 — 17
. —122° 4 22 — 17




. . B

(—6z* +3x—9) — (z* -3z + 1) =7

A. -522-10

. —Tx*+6z -8
.7z + 62— 10

. —4273.— 10

. —Tz%+ 6z — 10
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What are the roots of the equation (2 —1)(x +1) =147

D
DA-_S--
2

0 B. —1 £
- 12

5
I"_"IC.—§,3
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3z — 11z +10
S5z — 10

?

For all = # 2;

3r+5
A.
5
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What are the solutions to the equation |3z — 2| = 77

. 5/3 and 3
—5/3 and 3

. —5/3 and —3
. 5/3 and 3

E. -5/3 and —3

00w R




